EPsHTL S56IOSEHD CETHEEIILL R dmeTen:

Qurgsb| A B C . D E
gay seray sg17 BULMA® | 10,000 | 2,000 | 2,500 | 3,000 |2,000] 500
efleré@saflan erammaniisans 60 10 15 20 10 | 5
Crrigs snelaar (oF.) 10,000 | 3,000 | 2,000 | 3,000 [1,500| 500

Quisdlysden ey Sper| 150 60 30 50 10 | —

QuipdysSer wiy (m.) | 2,50,000 [60,000(80,000/1,00,000(5,000]5,000

24.

siLsselmasmer GouaGein giampsersE 90505wss. Cuoaid
(PSETENLD Flan LIEIS(H &L eIl SUImfléss. ’

A product is obtained through three process from the following
particulars, prepare process accounts, abnormal profit and loss
accounts:
Process
I II III
Rs. Rs. Rs.
Materials 2,600 | 1,980 | 2,962
Direct wages 2,000-( 3,000 | 4,000
Output (in units) 1950 | 840 | 750
Normal loss 5% 10% | 15%
Sale of scrap (per unit) 2 4 5
General expenses Rs. 9,000; 1,000 units at Rs. 3 each were
introduced in process — I. General expenses is to be apportioned
as 100% on wages.
@ Curmer epaty  Ugep@nsald  sLTTTEADS. @i ud e
afleuyugaiieh E)mBE LigpenD SEIEHE@GS@ETLD, HAETHTFaN )L
BLL & sars@Gasaman swnt Glgds. i
Li1g (LOED D& &fT
I w 11 I11
(b Tz ¢h-
QeI ' 2,600 | 1,980 | 2,962
Crprigd gncfl 2,000 | 3,000 | 4,000
2 HusH (Sl Esar) 950 840 750
ETSTERT HLLLD 5% 10% | 15%
sleyuCunmerser sflbuaear (1 o@dbhE,) 2 4 5

QurglFd Qeaaiser — em. 9,000; SADG&ET . 3, aigd, 1000 e @sar
e epoliunmer Ulgapenn — I & SHWPSLILHSSILLL .
Cunggeaaiser 100% Crrgs amel papuie ANssiu@pEeammen.

8 60574/AY25A

NOVEMBER 2024

60574/AY25A

Time : Three hours .

10.

11.

12.

Maximum : 75 marks
PART A — (10 x 2 = 20 marks)
Answer any TEN questions.

Define costing.

SLdseilwe — cuanywiy.

In what types of business activities cost accounting can be used?
DL Ssellme sansdld hs aflgomer eflwmumy pLatigSanssetied
LwerL (MsstuGEng 2

Give any three objectives of material control.

epelturmLsdr sl Guriiyer gCasaib ety Crréstisamen S5,

What is goods received note?

QummLgear QupLILL L GOILIY eremmmed eTeme ?
Give the meaning of Time-keeping.
Cpruudle) weapuler Qurmanar &ms.

Define — Labour Turnover Ratio (LTR).

2 Uiy sHd efsbd — eumrum.

Define overheads.

CuopsCema|ser — cuamrwimy.

What do you mean by ‘Machine Hour Rats ?
Gupdly well eissos upd Bt sifleuQsaan?

Mention the various methods of costing.

SiLsselwe saswueler uadGaum aopsmer GHLAGS.

What is process costing?

LI (LpedD L &&NUI) eTGTMTED eTebmanr ?

Give the meaning of operating costing.

Qwss L sselwed ereTLSeET GlUmhenars 5(1H.

Mention any three types of business -activities in which
operating costing is used.

Qués o sseflwaler o uGUISILESSLILED TCsEID ey
auaswren eilurUTy BLellgsmasamer @OLUABHs.

BLY



13.

14.

15.

PART B — (5 x 5 = 25 marks)
Answer any FIVE questions.

Describe the various elements of cost.

siLsseilwelen uoGamn 2 L sapsamen aflans@s.-

A factory produces 100 units of a commodity. The cost of
production is:

Rs.
Direct materials 10,000
Direct wages 5,000
Direct expenses 1,000
Factory overheads 6,500
Administrative overheads 3,480

If profit of 25% on sales is to be realised what would be the
selling price of each unit of the commodity?

Prepare the cost sh'eet./

@m Gsmipsrae 100 wEsomer 2 pHusd CsLdpg. Siger
2 HUSH BL_&&D:

@.
Corg. epai@unmetsar 1 10,000
Cprigs snedlse 5,000
Cpgé Gsaaysar 1,000

Qamfperene GuopiFaneser 6,500

Blreurs Copébleawayser 3,480

Mpuewer g 25% @emud miL GeuarhHibd eraflé SIS (1
Sjedler edpuenar cdlene eTebra ?

SLsselme Ll igwed surflés.

Calculate economic order quantity. Also state the number of
orders to be placed in a year.

Consumption of material per annum 10,000 Kg.

Cost of material per kilogram — Rs. 2

Order ,’placing costs per order — Rs. 50

Storage costs 8% on Average inventory.

2 60574/AY25A

K Ltd. has three production departments, ‘A’, ‘B’ and C and two
service department D and E. The following figures are extracted
from the records of the company.

Rs.
Rend and rates —| 5,000
Depreciation of machinery | — | 10,000
Power -1 1,500
Indirect wages —1| 1,500
General lighting - 600
Sundries : - 10,0-00
Following furthe.r details are available:
Total A B C D E

Floor space in square feet| 10,000 | 2,000 | 2,500 | 3,000 |2,000| 500

Light points 60 10 15 20 10 5
Direct wages (Rs.) 10,000 | 3,000 | 2,000 | 3,000 |1,500| 500 |
H.P. Machines 150 60 30 50 10 .

Value of machinery (Rs.) |2,50,000|60,000|80,000(1,00,000(5,000|5,000

Apportion the -costs to various departments, and prepare a
primary departmental distribution summary.
K QL ey Blmiow, A, B, wpmpid C ergyb aperm o puss

gleps@sbd, D wpmib E erep Geeneug giewpuyd Qarear® @ mbss!.
SipBnwsser ahselalmhg rOESLIULL aNeurBIGaT SLpeumLmp):

¢h-

uTLens HmD Igm&EeT | — | 5000

Quipdlrsdlen Gewwmerd | — | 10,000

Blenzsd) ~| 1,500
LEND(LPS Fnedl&HaET —| 1,500
Qungleuren ellaré@seT | 600
@&y /| wppaa — | 10,000
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122

émﬁﬂmn@ QUITHEBEGD saTsdHs:
(=) Ly 2.$576] SlaTey Hlane
() GODHS Slare) How

(@) o.&5 Setey Hleva

(m)  sgrefl @muy Serey Hleane.

From the following particulars, calculate earnings of a worker

under;
(a) Time rate system 16.
(b) Piece wage rate
(c) Halsey plan and
(d) Rowan plan.
Wage rate — Rs. 2 per hour.
Production per hour — 4 units.
Dearness allowance — Re. 1 per hour.
Standard time fixed — 80 hours.
Actual time taken — 50 hours.
Production — 250 units. |
spsrapid  Aeugrsemers  Qerar®, @  Osmblarefuder
aumLTaTSmE Speumbd (popsaid samrsd (s . ,
(@) s DI6TE (LPEDD
(<) Geuenad eIz snel perm
@) Caped S Lib wHmb
(rF) qureurr’eifr S Lib. 17,

el aligid — @ warllée, . 2.

R La&EE 2 HusH — 4 SiEsar.
Sy — @@ walés m. 1.

Slevewrar Grrn — 80 wanflser (Hlae).

2 amewwrar ahsgsbastar, Cpyb — 50 weanflser.

2.HLSE — 250 e @ser.

6 60574/AY25A

3.
fssar  Qametpsed yeamuatanes samdd(Hls.  CLIL G
ABTHES TsEman yamasar WplbssiuBdeaTner ereTUmSUD
STES (h&. ' ‘
R Yarigen epelidummer FiaTey — 10,000 G fymbd
2 SHeardrmbler eperi@urmeier <L ssalane — ep. 2
QameTpsd 2 5576] SLdselama (R ymarnss) — . 50
gL Calliiy Qewey — 8% (symefl sysdmLide)

Raghavendra metal company gives the following information:

Number of employees on 1.4.2022 | — | 200

Number of employees on 31.3.2023 | — | 240"

Number of employees resigned —1| 20
Number of employees discharged |—| 5
Number of employees replaced —| 18

Calculate labour turnover rate.

preGeupdrm @by Hpiob Eparaubd cleurhsmens smang:

1.4.2022 wieny Qsmfenatsdidan aramafams | — | 200
31.3.2023 ety Osmereflseiien eramanfisans | — | 240
uerllulallmbe eledueiisaier aaraflsms —1 20
ventluleSl(pha Basiiul Leisefen eramanisans | — 5

wnuaiuild wrssliulLersaller eramaidms | — | 18

Qsmferefigafier apnd alfssHmans samrsdHs.

From the following particulars calculate machine hour rate.
Cost of machine — Rs. 11,000
Scrap value of the machine — Rs. 680

' .Repairs for the effective working life of the machine — Rs. 1,500

Standing charges for 4 weeks period — Rs. 40
Effective working life — 10,000 hours
Power used : 6 units per hour at 5 paise per unit

Hours worked in 4 weeks period : 120 hours.
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Epaar allurriisefadimbg @Qubdr weartl CHy D ss50586 STETS.

. Qupdlrsslen o sseilewe — ap. 11,000

GuisdrsSen aPLHiL - e 680

Qupdrsden gLulsme L  LTTiys Gewaey — eb. 1,500
fleveowner Geewey, 4 auryhis@ps@ — 5. 40

< sre ueanfl Grrn — 10,000 wenflaer

Blengsd marey : 1 wafléE 6 DA@GST @ RETnI&EE 5 @uet
Quidlu Crrb 4 euryhisende — 120 weanflser.

18. Find out the selling price :
Prime cost per unit | — Rs. 720
Works overhead — | 20% of works cost
Office overhead — | 10% of cost of production
Selling overhead — | 20% on sales
puenar clleneen s saussl(H\a:
@it sdlpsrear pseraw HFwa] | _ em. 720
Qsmfperea Gopbsmese — | @srifpsToe siLsselmouian 20%
SiQeuas CohHsLgwa|ser = . o HUSE SILéS ngéug® 10%
SApLear Copsdsaaisd _ | c9puamenae 20%

19. Calculate the total Kms. and Itotal passenger Kms. From the
following : '

Number of buses —-15
Trips made by each bus ' —|4
Distance of route ) — | 20 Kms (one way)
Days operated in a month —| 25
Capacity.in each bus — | 50 passengers
Normal passengers travelled 90% of capacity

4 60574/AY25A

20.

21.

Epeupd  efleuriismend  CQaran® Qurss HCGomBLLT  WHmID
Quirgs Lwailsd HGomS Ly srems:

Cumpgisailen erammentésams —15

geueumm Cu@pbgb Gaoad LwemTd | — | 4

Wedeudl @ars@greanaey (@ awd) | — | 20 HCem B i
RO LIESED QuEiGD BT s ~| 25
@aQeurm Cumpdar Qamdrarerey = 50 Lwefsd

Qamaremefiley 90% Lweniladr @weours uwealsSprisar.

PART C — (8.x 10 = 30 marks)
Answer any THREE questions.

Explain the various classification of cost.

SiLssaflweienr uOGaim auamstiLThsmer efeuf&ssaid.

Two components A and B are used as follows:

Normal usage — 3,000 units per week each.

Minimum usage — 1,560 units per week each.

Maximum usage — 4,500 units per week each.

Re-order quantity : A — 13,000 unifs, B_ 14,000 units.

Re-order period : A — 4 to 6 weeks, B — 2 to 4 weeks.

Calculate for each component: -

(a) Re-order level

(b) Minimum level

(¢ Maximum level

(dj . Average stock level.

A oppd B Typdu Qrem@  Qurmrsdr S e drereumy
vweTuHiSsUILGSEleTng).

@uéy Lwearur® — 3,000 S@EseT aumysSHNE QeuQeumarmiib.
Gopps 2ere Lwerurh — 1,500 Sje@ser cumsdlng, eeubleumemmid.
2 s game) Lwetur(® — 4,500 ie@sdr aumssnG galbeurarmib.
om 2.5576] Sarey : A — 13,000 Sie@ser, B — 14,000 <o @ser.
Y 2 F576y sl 1 A—4 1psed 6 eumpriiser, B — 2 wpsed 4 eumpruser.
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